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11.

12.

13.

14.

15.

Choose the most appropriate synonym of the underlined lexical item in each of the

following sentences.
The end of such liberty would be universal chaos

a) uniformity b) confusion c) order d) freedom
Individual would have become social anarchy

a) disagree b) lawfulness c) lawlessness d) preference
As | heaved hard on the rope, Tenzing wriggled his way up the crack.

a) crawled b) jumped c) leaped d) skipped
He_endeavours to make a comparative analysis of classical languages of the world
a) prepares b) attempts c) tries d) wants

There is not a facet of human existence

a) happiness b) feature c) sadness d) tragedy

Fir the first time | really felt the fierce determination that nothing now could stop us
reaching the top.

a) anger b) quickness c) happiness d) willpower
He was a walking horror with a disfigured face

a) angry b) sad c) fright d) worry
........ the liberties of everybody must be curtailed.

a) increased b) soared c) reduced d) improved
...... that arose mostly on its own not as an offshoot of another tradition.

a) deviation b) distraction c) growth d) sprout
To qualify as a classical tradition, a language must fit several criteria.

a) barometre b) rules c) possibility d) order
Very soon this trolley was commandeered by an intrepid crew of two

a) boisterous b) bold c) weak d) cowardly
Suffering seems so cruelly prevalent in the world today.

a) presence b) widespread c) attacked d) pushed
Our original zest had now quite gone.

a) enthusiasm b) weakness c) sickness d) strength
| see nothing noble in a patient’s thrashing around in a sweat — soaked bed

a) water b) dirty c) perspiration d) sink

In spite of the balaclava helmet goggles and oxygen mask
a) spectacles b) glass c) head cover d) gloves



16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

26.

27.

28.

29.

30.

Choose the most accurate of the four given words which is opposite to the usage of the
underlined word in the following sentences.
He had returned to the hospital because he had a malignant tumour on the bone.

a) Benign b) dull c) clear d) wicked
......... it was turning more into grim struggle.
a) terrible b) cheerful c) barren d) fertile
......... our partly-full bottle of oxygen was now exhausted.
a) lost b) stopped c) existed d) replenished
We persisted in our efforts to beat a trail up it.
a) slackened b) continued c) persistent d) sustained
First, Tamil is of consideral antiquity.
a) modernity b) ancientness c) tradition d) culture
can do what we choose be wise or ridiculous , harsh or easy, conventional or odd.
a) strange b) usual c) stately d) orderly
....... is to deny a vital and central part of the greatness.
a) important b) essential c) insignificant d) clear
....... steps into the middle of the road and puts out his hand, he is the symbol

not of tyranny,
a) democracy b) kingdom c) republic d) autocracy
“How dare this fellow interfere with your free use of the public highway?”
a) recover b) hinder c) obstacles d) free
| cooked them over the fierce flame
a) moderate b) strong c) powerful d) slow
Then in turn | would sink my shaft
a) drown b) float C) raise d) push
As the wound healed around his neck, his lower jaw become gripped
a) closed b) cured c) worsened d) surrounded
That is patiently obvious to anyone who knows the subject
a) clear b) sure c) confirm d) vague
| had eleven broken ribs and a perforatedlung
a) damaged b) torn c) intact d) cure

AS Sanskrit is the most conservative and least changed of the Indo-European languages
a) curtail b) liberal c) stingy d) infertile



